1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

1 NS: (H0)0 10 NS: (FiC) 0 VP:| 10.00 : 10.00| Total VP: 77.72 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 8
I
# 11 a 1632 Mean: 6HW-1 50 12.0 2 [|# 12 » 95 Mean: 2DS4 130 50 1
v3 670  3NE6 490 50 1 v AKT8 40  1NN3 150 50 1
* K942 Dif: NS:0 A 00 2 « K864 Dif: NS:0 A 00 2
» 1742 IMP: EW:0 6HW6 980 7.0 1 » 963 IMP: EW:0 1HE1 80 1.0 1
4 85 & AK7 6NE7 <1020 -80 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 Mean: 3NE-2 100 50 1
' AJ9532 680 A 00 2 v T9632 100  5CE-1 50 40 1
Dif: NS:0 4HN6 680 00 7 o AJ7 Dif: NS:0 3NW-1 50 40 1
.|.AT765 IMP: EW:0 & IMP: EW:0 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32 a J7632 » A9854 5CW5 400 7.0 1
%o ¢ VAN 4, AK842 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W o~~~ ~ ~ 53~~2
# 15 4 Q952 Mean: 4SE-1 50 70 2 |[|# 16 s Q754 Mean: 2SN3 140 40 2
v74 240  3SE4 470 2.0 1 v J4 0 2SN2 110 3.0 1
¢ T86 Dif: NS:0 2SE4 470 20 1 ¢ JT8 Dif: NS:0 1NW-1 100 30 1
» J864 IMP: EW:0 A 00 2 & AQ64 IMP: EW:0 A 00 2
» T86 a AJ743 4SE4 420 50 3 A3 & JT6 2HW2 410 3.0 1
v QT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 Mean: 4SW-1 50 70 1 ||# 18 a T74 Mean: 4SE-1 50 30 4
v K764 230 3NW-1 50 70 2 v 863 40 A 00 2
¢ 976 Dif: NS:0 A 00 2 + K764 Dif: NS:0 3SE3 140 -3.0 4
& J82 IMP: EW:0 3NW3 400 50 5 & A94 IMP: EW:0
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 o OVABN 43
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 a4 A96 Mean: 4HN6 480 30 3 ||# 20 & AT654 Mean: 3NW-2 200 7.0 1
v KQ842 390  4HN5 450 2.0 4 v AT5 80  3SN3 140 6.0 1
¢ 65 Dif: NS:0 A 00 2 *J Dif: NS:0 4DE-1 100 50 1
& AQ8 IMP: EW:0 6HN-1 50 100 1 » KJ83 IMP: EW:0 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
B¢ VABN 4432 P OVABN 4,032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1
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1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

2 NS: €43 BEE3EGH0) 19 3 NS: ##88 BB (BAC) -2 VP:| 14.80 : 5.20 | Total VP: 92.17 Rank:
EW: &g SEBEAC) 2 EW: ¥ 518 F5IE(BRO) -1 IMP:| 21 6 3
I
# 11 a 1632 6HW-150 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 -110 Mean: 2DS4 130 50 1
v3 6NE6 -990 -670 3NE6 490 50 1 v AKT8 2SW3 -140 -40  1NN3 150 50 1
* K942 Dif: 1040 NS:12 A 00 2 + K864 Dif: 30 Ns:2 A 00 2
» 1742 IMP: 14 EW:8 6HW6 980 7.0 1 » 963 IMP: 1 EW:3 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 -8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 5CE-150 Mean: 3NE-2 100 50 1
'AJ9532 4HNG6 680 680 A 00 2 v T9632 3NW-150 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: 0 NS:4 3NW-1 50 40 1
.|.AT765 IMP: 0 EW:0 & IMP: 0 EW:-4 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢V BN ,AKBE2 ¢V BN 974 3NW3 400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W ~ ~ ~ ~ ~ 53 ~~2
# 15 » Q952 3SE4 -170 Mean: 4SE-1 50 70 2 ||# 16 s Q754 2SN3 140 Mean: 2SN3 140 40 2
v 74 3NE4 -430 -240 3SE4 470 2.0 1 v J4 2SN3140 O 2SN2 110 30 1
¢ T86 Dif: 260 NS:2 2SE4 470 20 1 ¢ JT8 Dif: 0 NS:4 1NW-1 100 30 1
» J864 IMP: 6 EW:5 A 00 2 & AQ64 IMP: 0 EW:-4 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW3 -400 Mean: 4SW-1 50 70 1 ||# 18 a T74 4SE-1 50 Mean: 4SE-1 50 30 4
v K764 3NW3 -400 -230  3NW-1 50 70 2 v 863 4SE-150 -40 A 00 2
¢ 976 Dif: 0 NS:-5 A 00 2 + K764 Dif: 0 NS:3 3SE3 140 -3.0 4
& J82 IMP: 0 EW:5 3NW3 400 -50 5 & A4 IMP: 0 EW:-3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 450 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1-100 Mean: 3NW-2 200 70 1
v KQ842 4HNG6 480 390  4HN5 450 20 4 v AT5 4DE-1100 -80  3SN3 140 60 1
¢ 65 Dif: -30 NS:2 A 00 2 *J Dif: 200 NS:-1  4DE-1 100 50 1
& AQ8 IMP: -1 EW:-3 6HN-1 50 100 1 » KJ83 IMP: -5 EW:5 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
B¢ VABN 4432 P OVABN 4,032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1
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1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

3 NS: #48 E BRHEEEEC) -2 2 NS: 2125 REE(F0) 19 VP:| 5.20 14.80 | Total VP: 88.34 Rank:
EW: 55 Z23EEFH0) -19 EW: &igT REBI(BAC) 2 IMP:| 6 21 6
I
# 11 a 1632 6HW-1-50 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 110 Mean: 2DS4 130 50 1
v3 6NE6 990 -670  3NE6 490 50 1 v AKT8 2SW3 140 -40  1NN3 150 50 1
* K942 Dif: 1040 NsS:-8 A 00 2 + K864 Dif: -30 Ns:-3 A 00 2
» 1742 IMP: -14 EW:-12 6HW6 980 7.0 1 » 963 IMP: -1 EW:2 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 5CE-1-50 Mean: 3NE-2 100 50 1
vAJ9532 4HNG6 -680 680 A 00 2 v T9632 3NW-1-50 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: 0 NS:4 3NW-1 50 40 1
.|.AT765 IMP: 0 EW:0 & IMP: 0 EW:-4 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢ VAN 4 AKB42 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3SE4 170 Mean: 4SE-1 50 70 2 ||# 16 s Q754 2SN3 -140 Mean: 2SN3 140 40 2
v74 3NE4 430 -240 3SE4 470 2.0 1 v J4 2SN3-140 © 2SN2 110 30 1
¢ T86 Dif: -260 NS:-5 2SE4 470 20 1 ¢ JT8 Dif: 0 NS:4 1NW-1 100 30 1
» J864 IMP: -6 EW:2 A 00 2 & AQ64 IMP: 0 EW:-4 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW3 400 Mean: 4SW-1 50 70 1 ||# 18 a T74 4SE-1 -50 Mean: 4SE-1 50 30 4
v K764 3NW3 400 -230  3NW-1 50 70 2 v 863 4SE-1-50 -40 A 00 2
¢ 976 Dif: 0 NS:-5 A 00 2 + K764 Dif: 0 NS:3 3SE3 140 -3.0 4
& J82 IMP: 0 EW:5 3NW3 400 -50 5 & A4 IMP: 0 EW:-3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 -450 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1 100 Mean: 3NW-2 200 70 1
v KQ842 4HNG6 -480 390  4HN5 450 20 4 v AT5 4DE-1-100 -80  3SN3 140 60 1
¢ 65 Dif: 30 NS:3 A 00 2 *J Dif: 200 NS:5 4DE-1 100 50 1
& AQ8 IMP: 1 EW:-2 6HN-1 50 100 1 » KJ83 IMP:5 EW:1 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
ooV AN 4432 B+ oVABN 4032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1




v ‘, I 9
9 11#F<F >ABERFHLETRE = R 9
#1: 4 Infinity(119.79) #2: 6 U_l(92 45) #3: 2 TW M1xed(92 17)
4 NS: B&ST #REEFGHO) 17 5 NS: PRIERR FE1E3R(BAC) -36 VP:| 20.00 : 0.00 Total VP: 119.79 Rank:
EW: #3 SIREEEAC) 36 EW: $iRZE M5 (B0) -1 IMP:| 54 6 1
I
# 11 4 T632 3NE6 -490 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 -110 Mean: 2DS4 130 50 1
v3 6NE6 -990 -670 3NE6 490 50 1 v AKT8 1HE1-80 -40  1NN3 150 50 1
» K942 Dif: 500 NS:5 A 00 2 + K864 Dif: -30 Ns:2 A 00 2
» 1742 IMP: 11 EW:8 6HW6 980 7.0 1 » 963 IMP: -1 EW:1  1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 2SE-150 Mean: 3NE-2 100 50 1
vAJ9532 4HNG6 680 680 A 00 2 v T9632 3NW3 -400 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: 450 NS:4 3NW-1 50 40 1
;AT765 IMP: 0 EW:0 & IMP: 10 EW:7 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢ VAN 4 AKB42 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 4SE-1 50 Mean: 4SE-1 50 70 2 ||# 16 s Q754 1HW2 -110 Mean: 2SN3 140 40 2
v 74 4SE4 -420 -240 3SE4 470 2.0 1 v J4 1NW2-120 © 2SN2 110 30 1
¢ T86 Dif: 470 NS:7 2SE4 470 20 1 ¢ JT8 Dif: 10 NS:-3 1NW-1 100 30 1
» J864 IMP: 10 EW:5 A 00 2 & AQ64 IMP: 0 EW:3 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW-150 Mean: 4SW-1 50 70 1 ||# 18 a T74 3SE3 -140 Mean: 4SE-1 50 30 4
v K764 3NW3 -400 -230  3NW-1 50 70 2 v 863 4SE-150 -40 A 00 2
¢ 976 Dif: 450 NS:7 A 00 2 + K764 Dif: -190 NS:-3 3SE3 140 -3.0 4
& J82 IMP: 10 EW:5 3NW3 400 -50 5 & A4 IMP: -5 EW:-3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HNG6 480 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1-100 Mean: 3NW-2 200 70 1
v KQ842 4HN5 450 390 4HN5 450 20 4 v AT5 3NXW3 -750 -80  3SN3 140 60 1
¢ 65 Dif: 30 NS:3 A 00 2 *J Dif: 650 NS:-1 4DE-1 100 50 1
& AQ8 IMP: 1 EW:-2 6HN-1 50 100 1 » KJ83 IMP: 12 EW:12 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 E v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
ooV AN 4432 B+ oVABN 4032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1
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1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

5 NS: B #EsREC) -36 4 NS: BESF Wi+ (F0) 17| VP:| 0.00 20.00 | Total VP: 84.06 Rank:
EW: 3842 #E5HEFO) -17 EW: e 2InzEPRAC) 3 IMP:| 6 54 7
I
# 11 » T632 3NE6 490 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 110 Mean: 2DS4 130 50 1
v3 6NE6 990 -670  3NE6 490 50 1 v AKT8 1HE180 -40  1NN3 150 50 1
» K942 Dif: -500 NsS:-8 A 00 2 + K864 Dif: 30 NS:-1 A 00 2
» 1742 IMP: -11 EW:-5 6HW6 980 7.0 1 » 963 IMP: 1 EW:2 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 -8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 2SE-1-50 Mean: 3NE-2 100 50 1
vAJ9532 4HNG6 -680 680 A 00 2 v T9632 3NW3 400 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: -450 NS:-7 3NW-1 50 40 1
;AT765 IMP: 0 EW:0 £} IMP: -10 EW:-4 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32 a J7632 » A9854 5CW5 400 7.0 1
%o ¢ VAN 4, AK842 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W ~ ~ ~ ~ ~ 53 ~~2
# 15 » Q952 4SE-1 -50 Mean: 4SE-1 50 70 2 ||# 16 s Q754 1HW2 110 Mean: 2SN3 140 40 2
v 74 4SE4 420 -240 3SE4 470 2.0 1 v J4 1NW2120 © 2SN2 110 30 1
¢ T86 Dif: -470 NS:-5 2SE4 470 20 1 ¢ JT8 Dif: -10 NS:-3 1NW-1 100 30 1
» J864 IMP: -10 EW:-7 A 00 2 » AQ64 IMP: 0 EW:3 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW-1 -50 Mean: 4SW-1 50 70 1 ||# 18 a T74 3SE3 140 Mean: 4SE-1 50 30 4
v K764 3NW3 400 -230  3NW-1 50 70 2 v 863 4SE-1-50 -40 A 00 2
¢ 976 Dif: -450 NS:-5 A 00 2 + K764 Dif: 190 NS:3 3SE3 140 -3.0 4
& J82 IMP: -10 EW:-7 3NW3 400 -50 5 & A4 IMP: 5 EW:3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HNG6 -480 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1 100 Mean: 3NW-2 200 70 1
v KQ842 4HN5 -450 390  4HN5 450 20 4 v AT5 3NXW3750 -80 3SN3 140 60 1
¢ 65 Dif: -30 NS:2 A 00 2 *J Dif: -650 NS:-12 4DE-1 100 50 1
& AQ8 IMP: -1 EW:-3 6HN-1 50 100 1 » KJ83 IMP: -12 EW:1 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
B¢ VABN 4432 P OVABN 4,032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1




9

1#FEE 2RABERFHL

N

=

R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

6 NS: Bk 5A BRIEH(BHO) -17 7 NS: 2835 BRIIEF(BAC) 10 VP:| 7.82 12.18| Total VP: 92.45 Rank:
EW: #fEfs HREEEIC) 10 EW: 2R EI17R(BA0) 17 IMP:| 22 28 2
I
# 11 4 T632 6HW6 -980 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 1NN3 150 Mean: 2DS4 130 50 1
v3 6NE6 -990 -670 3NE6 490 50 1 v AKT8 2SW2 -110 -40  1NN3 150 50 1
» K942 Dif: 10 Ns:-7 A 00 2 + K864 Dif: 260 NS:5 A 00 2
» 1742 IMP: 0 EW:8 6HW6 980 7.0 1 » 963 IMP: 6 EW:2 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 3NE-2 100 Mean: 3NE-2 100 50 1
vAJ9532 4HNG6 680 680 A 00 2 v T9632 2SXN-2 -300 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: 400 NS:5 3NW-1 50 40 1
.|.AT765 IMP: 0 EW:0 & IMP: 9 EW:5 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢ VAN 4 AKB42 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W ~ ~ ~ ~ ~ 53 ~~2
# 15 » Q952 2SE4 -170 Mean: 4SE-1 50 70 2 ||# 16 s Q754 1NW1 -90 Mean: 2SN3 140 40 2
v 74 4SE4 -420 -240 3SE4 470 2.0 1 v J4 2HW2-110 © 2SN2 110 30 1
¢ T86 Dif: 250 NS:2 2SE4 470 20 1 ¢ JT8 Dif: 20 NS:-3 1NW-1 100 30 1
» J864 IMP: 6 EW:5 A 00 2 & AQ64 IMP:1 EW:3 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW3 -400 Mean: 4SW-1 50 70 1 ||# 18 a T74 3SE3 -140 Mean: 4SE-1 50 30 4
v K764 4SW-150 -230 3NW-1 50 70 2 v 863 3SE3-140 -40 A 00 2
¢ 976 Dif: -450 NS:-5 A 00 2 + K764 Dif: 0 NS:-3 3SE3 140 -3.0 4
& J82 IMP: -10 EW:-7 3NW3 400 -50 5 & A4 IMP: 0 EW:3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 6HN-1 -50 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1-100 Mean: 3NW-2 200 70 1
v KQ842 4HN5 450 390 4HN5 450 20 4 v AT5 3NW-2200 -80 3SN3 140 60 1
¢ 65 Dif: -500 NS:-10 A 00 2 *J Dif: -300 NS:-1 4DE-1 100 50 1
& AQ8 IMP: -11 EW:-2 6HN-1 50 100 1 » KJ83 IMP: -7 EW:-7 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
ooV AN 4432 B+ oVABN 4032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1
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1#FEE 2RABERFHL

N

¥

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

7 NS: 2338 BRILEREAC) -10 6 NS: BRK3h PR (BO) -17 VP:| 1218 : 7.82 Total VP: 91.52 Rank:
EW BERIE FIhREE0) 17 EW: #{Efk MERB(BAC) 10 IMP:| 28 22 4
# 11 4T632 6HW6 980 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 1NN3 -150 Mean: 2DS4 130 50 1
v3 6NE6 990 -670  3NE6 490 50 1 v AKT8 2SW2110 -40  1NN3 150 50 1
* K942 Dif: 10 Ns:-8 A 00 2 + K864 Dif: -260 NsS:-2 A 00 2
» 1742 IMP: 0 EW:7 6HW6 980 7.0 1 » 963 IMP: -6 EW:-5 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~ ~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 3NE-2 -100 Mean: 3NE-2 100 50 1
' AJ9532 4HNG6 -680 680 A 00 2 v T9632 2SXN-2 300 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: -400 NS:-5 3NW-1 50 40 1
.|.AT765 IMP: 0 EW:0 & IMP: -9 EW:-5 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + + AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢ VAN 4 AKB42 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~m~~~ ~ o T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 2SE4 170 Mean: 4SE-1 50 70 2 ||# 16 s Q754 1NW1 90 Mean: 2SN3 140 40 2
v74 4SE4 420 -240 3SE4 470 2.0 1 v J4 2HW2110 o 2SN2 110 30 1
¢ T86 Dif: -250 NS:-5 2SE4 470 20 1 ¢ JT8 Dif: -20 NS:-3 1NW-1 100 30 1
» J864 IMP: -6 EW:2 A 00 2 » AQ64 IMP: -1 EW:3 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 wA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ &b52
W ~4~43 ~~1~~
# 17 & K96 3NW3 400 Mean: 4SW-1 50 70 1 ||# 18 a T74 3SE3 140 Mean: 4SE-1 50 30 4
v K764 4SW-1-50 -230 3NW-1 50 70 2 v 863 3SE3140 40 A 00 2
¢ 976 Dif: 450 NS:7 A 00 2 + K764 Dif: 0 NS:-3 3SE3 140 -3.0 4
& J82 IMP: 10 EW:5 3NW3 400 -50 5 & A4 IMP: 0 EW:3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 6HN-1 50 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1 100 Mean: 3NW-2 200 70 1
v KQ842 4HN5 -450 390  4HN5 450 20 4 v AT5 3NW-2-200 -80  3SN3 140 60 1
¢ 65 Dif: 500 NS:2 A 00 2 *J Dif: 300 NS:7 4DE-1 100 50 1
& AQ8 IMP: 11 EW:10 6HN-1 50 100 1 » KJ83 IMP: 7 EW:1 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
ooV AN 4432 B+ oVABN 4032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1




" i ==> R9
9 11 FF>ABERFHLETRE == 9
#1: 4 Infinity(119.79) #2: 6 U_l(92 45) #3: 2 TW M1xed(92 17)
8 NS: BT BUEIR(BHO) 20 9 NS: 3B 52/~ (BAC) 5 VP:| 13.14 : 6.86 Total VP: 89.33 Rank:
EW: BEitt4 S2EAC) -5 EW: [R<FR BR{EFR(BAO) -2 IMP:| 36 27 5
I
# 11 a 1632 6HW-150 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 -110 Mean: 2DS4 130 50 1
v3 6NE7 -1020 -670 3NE6 490 50 1 v AKT8 2DS4130 -40  1NN3 150 50 1
» K942 Dif: 1070 NS:12 A 00 2 + K864 Dif: -240 NsS:-2 A 00 2
» 1742 IMP: 14 EW:8 6HW6 980 7.0 1 » 963 IMP: -6 EW:-5 1HE1 80 1.0 1
4 85 & AK7 6NE7 1020 -80 1 || QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 5CW5 -400 Mean: 3NE-2 100 50 1
vAJ9532 4HN7 710 680 A 00 2 v T9632 3NE-150 -100 5CE-1 50 40 1
Dif: -30 NS:0 4HN6 680 00 7 o AJ7 Dif: -450 NS:-7 3NW-1 50 40 1
;AT765 IMP: -1 EW:-1 £} IMP: -10 EW:-4 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢ VAN 4 AKB42 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 4SE-1 50 Mean: 4SE-1 50 70 2 ||# 16 s Q754 1NW-1 100 Mean: 2SN3 140 40 2
v 74 4SE4 -420 -240 3SE4 470 2.0 1 v J4 2SN2110 O 2SN2 110 30 1
¢ T86 Dif: 470 NS:7 2SE4 470 20 1 ¢ JT8 Dif: -10 NS:3 1NW-1 100 30 1
» J864 IMP: 10 EW:5 A 00 2 & AQ64 IMP: 0 EW:-3 A 00 2
4 T86 a AJ743 4SE4 420 50 3 A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW3 -400 Mean: 4SW-1 50 70 1 ||# 18 a T74 4SE-1 50 Mean: 4SE-1 50 30 4
v K764 3NW-150 -230 3NW-1 50 70 2 v 863 3SE3-140 -40 A 00 2
¢ 976 Dif: -450 NS:-5 A 00 2 + K764 Dif: 190 NS:3 3SE3 140 -3.0 4
& J82 IMP: -10 EW:-7 3NW3 400 -50 5 & A4 IMP: 5 EW:3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HNG6 480 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN3 140 Mean: 3NW-2 200 70 1
v KQ842 4HN5 450 390 4HN5 450 20 4 v AT5 3SN-1-100 -80  3SN3 140 60 1
¢ 65 Dif: 30 NS:3 A 00 2 *J Dif: 240 NS:6 4DE-1 100 50 1
& AQ8 IMP: 1 EW:-2 6HN-1 50 100 1 » KJ83 IMP: 6 EW:1 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
ooV AN 4432 B+ oVABN 4032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1
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1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

9 NS: FENER 42 ERZEHC) 5 8 NS: BRE# EREI5(F0) 20 VP:| 6.86 13.14| Total VP: 73.62 Rank:
EW: BEsF R BEEEE(BH0) 20 EW: BAtE 4 RiE(BAC) -5 IMP:| 27 36 9
I
# 11 a 1632 6HW-1-50 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 110 Mean: 2DS4 130 50 1
v3 6NE7 1020 -670  3NE6 490 50 1 v AKT8 2DS4 -130 40  1NN3 150 50 1
» K942 Dif: 1070 NsS:-8 A 00 2 + K864 Dif: 240 NS:5 A 00 2
» 1742 IMP: -14 EW:-12 6HW6 980 7.0 1 » 963 IMP: 6 EW:2 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 5CW5 400 Mean: 3NE-2 100 50 1
vAJ9532 4HN7 -710 680 A 00 2 v T9632 3NE-1-50 -100 5CE-1 50 40 1
Dif: 30 NS:1  4HN6 680 00 7 o AJ7 Dif: 450 NS:4 3NW-1 50 40 1
;AT765 IMP: 1 EW:0 & IMP: 10 EW:7 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
%o ¢ VAN 4, AK842 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W ~ ~ ~ ~ ~ 53 ~~2
# 15 » Q952 4SE-1 -50 Mean: 4SE-1 50 70 2 ||# 16 s Q754 1NW-1-100 Mean: 2SN3 140 40 2
v 74 4SE4 420 -240 3SE4 470 2.0 1 v J4 2SN2-110 © 2SN2 110 30 1
¢ T86 Dif: -470 NS:-5 2SE4 470 20 1 ¢ JT8 Dif: 10 NS:3  1NW-1 100 30 1
» J864 IMP: -10 EW:-7 A 00 2 & AQ64 IMP: 0 EW:-3 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW3 400 Mean: 4SW-1 50 70 1 ||# 18 a T74 4SE-1 -50 Mean: 4SE-1 50 30 4
v K764 3NW-1-50 -230 3NW-1 50 70 2 v 863 3SE3140 40 A 00 2
¢ 976 Dif: 450 NS:7 A 00 2 + K764 Dif: -190 NS:-3 3SE3 140 -3.0 4
& J82 IMP: 10 EW:5 3NW3 400 -50 5 & A4 IMP: -5 EW:-3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HNG6 -480 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN3 -140 Mean: 3NW-2 200 70 1
v KQ842 4HN5 -450 390  4HN5 450 20 4 v AT5 3SN-1100 -80  3SN3 140 60 1
¢ 65 Dif: -30 NS:2 A 00 2 *J Dif: -240 NS:-1  4DE-1 100 50 1
& AQ8 IMP: -1 EW:-3 6HN-1 50 100 1 » KJ83 IMP: -6 EW:6 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
ooV AN 4432 B+ oVABN 4032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1
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1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

1 O NS: (BC) 0 1 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: 0.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 ;0 10
I
# 11 a 1632 A Mean: 6HW-1 50 12.0 2 ||# 12 s 95 A Mean: 2DS4 130 50 1
v3 A -670 3NE6 490 50 1 v AKT8 A 40  1INN3 150 50 1
» K942 Dif: 0 NS:0 A 00 2 + K864 Dif: 0 NS:0 A 00 2
» 1742 IMP: 0 EW:0 6HW6 980 7.0 1 » 963 IMP: 0 EW:0 1HE1 80 1.0 1
4 85 & AK7 6NE7 1020 -80 1 || QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 A Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 A Mean: 3NE-2 100 50 1
v AJ9532 A 680 A 00 2 v T9632 A -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: 0 NS:0 3NW-1 50 40 1
.|.AT765 IMP: 0 EW:0 & IMP: 0 EW:0 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
%o ¢ VAN 4, AK842 o eVAN 4,974 3NW3 -400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W ~ ~ ~ ~ ~ 53 ~~2
# 15 » Q952 A Mean: 4SE-1 50 70 2 ||# 16 s Q754 A Mean: 2SN3 140 40 2
v74 A -240 3SE4 470 2.0 1 v J4 A o0 2SN2 110 30 1
¢ T86 Dif: 0 NS:0 2SE4 470 20 1 ¢ JT8 Dif: 0 NS:0 1NW-1 100 30 1
» J864 IMP: 0 EW:0 A 00 2 & AQ64 IMP: 0 EW:0 A 00 2
4 T86 a AJ743 4SE4 420 50 3 A3 & JT6 2HW2 410 3.0 1
v QJT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 A Mean: 4SW-1 50 70 1 ||# 18 a T74 A Mean: 4SE-1 50 30 4
v K764 A 230  3NW-1 50 70 2 v 863 A -4 A 00 2
¢ 976 Dif: 0 NS:0 A 00 2 + K764 Dif: 0 NS:0 3SE3 140 -3.0 4
& J82 IMP: 0 EW:0 3NW3 400 -50 5 & A4 IMP: 0 EW:0
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 a4 A96 A Mean: 4HN6 480 30 3 ||# 20 & AT654 A Mean: 3NW-2 200 7.0 1
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